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1. Aditi buys a return ticket to Liverpool.
Aditi pays with two £50 notes.
She gets £37.85 change.

Work out the cost of the return ticket to Liverpool.
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2. Jakub buys a chocolate bar.
Jakub pays with a £5 note.
He gets £4.40 change.

Work out the cost of the chocolate bar.
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3. Riya buys a cup of tea.
Riya pays with a £5 note.
She gets £4.30 change.

Work out the cost of the cup of tea.
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4. Caleb buys a 3 course lunch.
Caleb pays with two £10 notes.
He gets £8.55 change.

Work out the cost of the 3 course lunch.
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Answers

1. £62.15
2. £0.60 or writes 60 p
3. £0.70 or writes 70 p
4. £11.45
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